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The test booklet consists of two parts 'A' & 'B'. The total number of test items will be 100 of 
one mark each. 
ut.a 	 t, ' 3T' 	I L1.0 ur 	 aril 	I 	Rs.q 100 t F)--  Lai 3 cb 	I *1 

Subject 
?atm 

No. of 
Questions 

IP* chl #75Eir 

Marks 
ai—  

Time 
,Flt-ig 

Part A 
1-TTIT 31 
Section I General English Comprehension 10 10 Composite 
g IJ 	I 4:111-11.-q 	1 ') 	̀19'  time of 

Section II Logical & Analytical Reasoning 20 20 two hours 

taus II elf 	Ici rcw)quiiclich Fci-cf-1 T.FIT Tfrrzr 

Section III Educational & General Awareness 25 25 t 
tgus III *NTT -74 kip-ii-e4 - ch-ii 

Section IV Teaching-Learning and the School 25 25 
tags  IV qi8,-Tur-3-TNT[14 	i 	cmo,-.1 

Part B 
WIT 

* Subject Competence (any one) 20 20 
f-TERITI-ff Trwr-d-r ('w1.) ) 

Section V (i) Science 
f4UF -1513- 	V 

(ii) Mathematics 
'II id 

(iii) Social Science 
t-I14-11 All f-dJF 

(iv) English 
3f4q1-  

(v) Hindi 

.-q 

*NOTE : Any one subject is to be attempted from part 'B'. 

AZ" : %MT "W14 W11 	Nag 	tl 
Read the instructions given on the OMR Response Sheet carefully before y9u start. 

OMR 37R - Li7I 'ER 	kLr, f9-"0 Wri-c& trfF I 
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE SHEET 

(EXAMINATION ANSWER SHEET) 

OMR dru-TM-  TR-  tu-ii 9-17-4 

1. Write your complete Enrolment No. in 9 digits. Also write your correct name, address 

with Pin Code in the space provided. Put your signatures on the OMR Response Sheet 

with date. Ensure that the Invigilator in your examination hall also puts his signatures 

with date on the OMR Response Sheet at the space provided. You should use HB Pencil. 

31-cit 	 -1,61-T) 9 34-0 14 Thf7§17 I f 	+14 T.2.TN 143-TEFT Trt -114 a fLI-1 

cf-;) 	 f- ftf71 OMR aft-  trq 1 	Ri Ti f0 3174 7f.RiT 	 Tf9"5-4U 

	r 	31 yi1Ur 	 OMR arts- -Erq 1:ET 	T-2TRITT rciNT 	r fl R 

cl fq?) 	31 I4ct-4 FIB -4#1-0-  chi -srzOr 

2. All information is to be filled up with FIB Pencil. The circles corresponding to the digit 

are to be darkened with an HB pencil. 

1,4 Tt-q7T HB 	 r s1.1') -r4 r s i 3f-A 	Tfird.  7)' 	HB ftTrt -(4 t 	"7-9T t I 

3. Do not make any stray remarks on this OMR Response Sheet. 

OMR 	icR 	 711 'f97TTi 	 

4. Write correct information in numerical digit in Enrolment No. and Examination Centre 

Code columns. The corresponding circles should be dark enough and should be filled in 

completely. 

riIN:cf)•1 4(sqf 	flour 	arr 	-T43-f-4 	Tit 7T9T Th-r-Tg7i #art trz:67 

3.Ta 	cite 7( 

5. Each question is followed by four (or less) probable answers, which are numbered 1, 2, 3 

and 4. You should select and show only one answer to each question considered by you 

as the most appropriate or the correct answer. Select the most appropriate answer. Then 

by using FIB pencil, blacken the circle bearing the correct answer number against the 

serial number of the question. If you find that answer to any question is none of the four 

alternatives given under the question you should darken the circle '0'. 
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era 	 'A 	t 	aid 	ciT chid) T,41Tric-q7 67R h, 	1, 2, 3 -ff211 4 51(1 f-Rc,r-lcf f*--4 

* Frdk,  3TTEr-*=1 	 37R 7.11F-Icl 	f9t17.. ch ( 	I 	 174 377 k-4  ci 	ci"' 4"---171 71.  

TEA 

 

a 	-ct 	t 1 -TrdirqT 	3 	1( 11R I  	t7 5R1     t 

Trrzr4 Trt 6-It 	 c) c MI 	i 	3Trg 	 t' rch  	41;4 rq,4 3-Tr-{ acbc-q •  

9 	-71.k -iii t 	3770 11-1 '0' 	*MI cht'i I -c16 

6. If you wish to change your answer, ERASE completely the already darkened circle by 

using a good quality eraser and then blacken the circle hearing your revised answer 

number. If incorrect answer is - not erased completely, smudges will be left on the erased 

circle and the question will be read as having two answers and will be ignored for 

giving any credit. 

aircr 	art 	l GIG(1-11 "clq, 	 f 	 ttillq11 	tat A 

city filZ1 TW--M 671t 	 qrA 1-cr 	chic-1r 	zit imo a1( 	c1( 

fiTa-Frr Jiir frreM 	 11 14 To -fturi 	7-04 * 	art t4 0 4-0 704 

AT 3 1+1-1 l 74171 	 fwzrr err 

7. No credit will be given if more than one answer is given for one question. Therefore, you 

should select the most appropriate answer. 

-Eft cf-) 	 -) 	31-N-T 3T-  t fq7c1 7MTrr 	 -R1-4i 	aTrEr-A 

Tr-q-ffqT dFcil ,37R 	r4 q-1 -WT91 

8. You should not spend too much time on any one question. If you find any particular 

question difficult, leave it and go to the next. If you have time left after answering all the 

questions, you may go back to the unanswered ones. 

f--*7t 	-) 779. ITT 3111--ich --11-1q 	c ► 41 	I 7fq 3-TicrA 	f-dftrE "(179' -Wr—di (-pica t 

3111( 	 .Tr 371. 	 3TrErk IRA Trrm t 	3Th4 	-579'i -ER 

ap-iq 	t 	 3-T1T4 37R 	 f7:11 t I 
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9. 	Only one subject is to be attempted from PART 'B'. 

W1 "u. ' *art qq) 	aqt4 

You will attempt the questions as under 

3Ticr*1 	 : 

SI. No. 	Subject 	 No. of Questions 

chi-110e 	 cl 	 50 "4.  err 

(i) Science 	 Q. Nos. 	81 to 100 

fq-T9 	 4s11 81 A 100 

(ii) Mathematics 	 Q. Nos. 	101 to 120 

Trrrum 	 101 A 120 

(iii) Social Science 	 O. Nos. 	121 to 140 

tiI 4'1 1 F-TI i fa-Urff 	 M 	1 4tY4 	i 121 A 140 

(iv) English 	 Q. Nos. 	141 to 160 

	 4trqi 141 A 160 

(v) Hindi 	 Q. Nos. 	161 to 180 

	 4(si 	i 161 A 180 
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GENERAL INSTRUCTION 

1. No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be 

allowed inside the examination hall. 

tr4vr 	3 t•wrl 49 4i-;1-r. 	 e.-7 Hr f--tr-d- 

31--Tif-d -16 ti 

2. You should follow the instructions given by the Centre Superintendent and by the 

Invigilator at the examination venue. If you violate the instructions you will be 

disqualified. 

14(1 MT T-21-9-  TR 3-770 	3-1q1M-  3-* P1t1 	gR 	I t-4TTY Wr 	410-1 	r t I qk 3-117 

- 9-k 	drr-lbi 01). c 31-174 31-zhrq 74f717 f-*--zrr err 

3. Any candidate found copying or receiving or giving assistance in the examination will be 

disqualified. 

t kll 	71fq 	 zfT t-11qc11 	7 7 7-171 	1.qN-11 717 1 
3-171)171 'OM f*--EfT -q1 -411T I 

4. The Test Booklet and the OMR Response Sheet (Answer Sheet) would, be supplied to you 

by the Invigilators. After the examination is over, you should hand over the OMR 

Response Sheet to the Invigilator before leaving the examination hall. Any candidate who 

does not return the OMR Response Sheet will be disqualified and the University may take 

further action against him/her. 

37TTA 	77 4(1 itafTd-Wf 317 OMR 71t-tM t-4 7144 I TftkIT 	+-I I t-I AlaTR4t1 	kTT 

-0)3-4 tf TO 3T14E*-  OMR 31 t- 117 	4.9 -II zlI 	I 	4t1 1T f1 3T OMR 

dlt-117   t dt) 31  ZrWEr-dfir 7T4111 	racriasliog 3Trk 	31T4 cnt 

-trrr 

5. All rough work is to be done on the test booklet itself and not on any other paper. Scrap 

paper is not permitted. For arriving at answers you may work in the margins, make 

some markings or underline in the test booklet itself. 

Tr* 	.W1-4 Li.aqf -after 	f-*--zrr -q-Orrr 3t{f 	3 r i.}1,  1,r Tr( 	witzr 	ail 	Y 31- T 

3T-firu 16. • 1 3114 act) 	fff-4 3TrcrA 4ai-r -a-ft7rwr Tffrr4il T .m4 
fiqrri din; zrr TiTr4 )7Tdr-*7-ff 	crii 31T:it'd t 
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6. The University reserves the right to cancel scores of any candidate who impersonates or 
uses/adopts other malpractices or uses any unfair means. The examination is conducted 
under uniform conditions. The University would also follow a procedure to verify the 
validity of scores of all examinees uniformly. If there is substantial indication that your 
performance is not genuine, the University may cancel your score. 

clqa asitog f*-771 	trefaiT211 	ffft-M q1k4 	37ftwT Tuth t 	OCklitt•Li tITTuT craii 

t zrf 	3-TR:f wit( 37MT-di t "c(T mq)1f cno( t 111 4- Feld 	mq)41 cmoi t I TRIVI 	 

ft gf.dzff 	3T%117 tivr ► d -4.  71 TO tl raqqras ► r► q 	771-kirfitql 	3rnif0 

-1:r 74 .11=44 	isbgliartz 3779-rkrft zft 4 	f rr yid.) 	ci t 	3TPW 	bqiqvf 3 	-t 

fiqqras ► c► 4 3-ITtrk u► tiich 1-1(cf W{ 7:Kt t I 

7. Candidates should bring their hall tickets duly issued by the Registrar. In the event of 
your qualifying the Entrance Test, this hall ticket should be enclosed with your admission 
form while submitting it to the University for seeking admission in B.Ed. Programme 
along with your testimonials and programme fee. Admission forms received without hall 
ticket in original will be summarily rejected. 

Tthanf 	cif 	crV(T 71t renqf TTEIT 	dcbd 7TiTTf-t71 of 	f 	dkl 	ii 14 q 	44 

thrEfufind t 	..meisot mdqr RiqclicIS►►( ► 4 31-74 

3T11:* utqf 	1:114 TR W9 re.che. 	 Tr-g7 I 't mcqi thizi Rill 717 

fawe 3rrEr f-*-4 .0;1 7-4 7:TuTRI.  tIT 	ttrr 	 
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	acbc,t4 

ff4 

34f- TT 	taxi tlq-13-4- 1;11:F{ 

#ET*r 	 fa r Q4Icf *-4 I 	̀31z1k7C 	 -.Trr c+41 	9-1#ET*r 	 

*Wq17T 	I 6.- 14 3-TrA furl *i 	Tu 16' focurzrr I 3 	11 a 	ch.) GR-11q1 fcr, 31-cr4 7R17 ch.) 31-fq-* 

=4(114 	-ERT -44 	 ti ylmIct)(1 	3-1-r9 	r fm 3-T4 TtEr 	c4 	3FcRi t I +714-1q,5, 	3-1T9- ail 

-14-11R11 fT-  3 r TR:di r-7:1 417'r ! 3-7T9-r t-cr*taxi ail I3Tcrt 3-Tr-c-m- 011 Itti1 	7f3t q4 c) 7-Fur 	-r3t 

tr-143rfarirr 	tr2T--7-0-ff 04 I 

aqicr-do m1Tr=r-rr7r -cr-{ 	 (.1 31-71 frrf 	fail 	Ufa21-P-rff*r 	era 211, 	31791 

fiTUI-1-11A 	7z17LT kcrr Sri 	3T-1-Aq 	ii-J-ftm# 	-fftfirrff Ovrrol-  fir tril #3r r Tgrcrffr cr, 

3T-Irrf-d zr-b f-49-zr fcre-** -*1.17--ffvf 	krrol t 	t 

4111 -141k * 	fiTg TiErTi---q'rftTu chi Tz 	fay -a-1-* 3321 ssrr-rl t f 	4-rirtr 

	

cr *2.N, TItq-r it 	grifn err Tqr 1A-Tur fwzrr .qT 	t I '441)--0 foRzil-  moral T 41eict 

Fichte-14 3711-{ 	 t 3-174 14 7 3711 	4-1R111 774 zT4 	-7-2-TTff -0-1101 6111 

	

1 Tfr--7 1:1-4 	 310 -f9-*Tel-11 m411- 1 I "ff0TTM 	3-17117titiit -4 Fadcbilc-i 7 	t-1R 

1A-PT chtll 	 -Rtl-EFE4 TU. 	eb-) 	 Ln-debk 	gl(1---tigT4 41 71-tfzrCrdl t .qt 

-11Z T`zi 	rr-wr 	-1quf 	l cr-cirr 	N11-11Fitcl-) 61 	 tl 79* 317TR -ciel4 

-A 71-49' ki,-hc-r 	t I 	*-43T§Tf 	-q-49 N-14*r tc4 	t 1 3-61. -qq-11 14 fa-izrqt-q-  ilott 21-r 

7--qt 	cr1 T t -qr Tr*th tl 	q-ch Th-R 	 ? 

1. 	7211,1cr 	r`z-crkvr' 	qz4 err ? 

(1) -4 z-qtrr 	-44 	TU4 0I 

(2) 1:17 -3-1:tqT 	741.11.  T71 -9.  \Ala t.1:14 	•-1 	1 

(3) TftMITT1 	Q-7-4 chbe.*r 3-1--Trq chk 	 I 

(4) 1:1-TszT **-49.  * 	 .qcb(7zi-r-jitd 	t 
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2. 	The significant feature of a continuum, according to the passage, revolves around : 

(1) the divisibility of the interval between any two points 

(2) an ordinary ruler's caliber for marking 

(3) its unending curve 

(4) its variety of co-ordinates 

	

3. 	The purpose of this passage is to highlight the point that : 

(1) pilots and sea captains have something in common 

(2) stockmarket charts may be helpful to physicists 

(3) the fourth dimension is time 

(4) non-mathematicians are often afraid of the common place 

	

4. 	According to the passage, an airline's traffic manager depends upon all the following 
except : 

(1) latitude and longitude 	(2) altitude 

(3) the time co-ordinate 	 (4) the continuous curve in co-ordinate four 

	

5. 	The underlying tone of this passage is : 

(1) persuasive 	(2) differential (3) candid 	(4) instructive 

	

6. 	According to the author, if one wishes to portray a physical event in which motion plays a 
role, one has to : 

(1) make use of a time table 	(2) indicate how position changes in time 
(3) describe it graphically 	 (4) be aware of altitude, latitude and longitude 

	

7. 	The sea captain's example has been cited in order to : 

(1) help understand a two dimensional continuum 

(2) set up a logical progression 

(3) mitigate the gap between the engineer and pilot 

(4) to sustain our interest in the reading of the passage 

	

8. 	'Feeling' in the first paragraph is : 

(1) a noun 	(2) a verb 
	

(3) a gerund 	(4) an adjective 

	

9. 	In the first paragraph, 'mysterious' is : 

(1) a noun 	(2) a verb 
	

(3) an adjective 	(4) none of these 

10. In the first paragraph, the word 'Occult' has been used. Which of the following does not 
come under occult ? 

(1) Physics 	(2) Mathematics 	(3) Chemistry 	(4) All of these 
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2. 	311T9T 	 cfrIt"cM *AI 3-1-543171 ? 

(1) 311T9l Tirri 	3-79-1 TrFi-m-4 41,3111 *II 

(2) 7547:.1 	9#174T • -. 1..)• I 

(3) 341 -14T • -ti 	c1 	chi 4Tg 	II 

(4) ,11-iit_41 	-cm4 	 ',-101101 

3. 	 1fEdTtc14 	Alovr cf;) 	 -1 * -7;t'? 
(1) 	fa---4 fZ 	Tt 	iii 	 (2) 	RIFl-ii 	fl-Rit- -77 

(3) 	311-9-  4;1 3-1'f- R 7-51fk•TqT 4‘i f1 	(4) 	f947ft 	 i;) P4TcriT 0111 3-TT=I11 t I 

4. 	-7 17:1' 11I 	ch 	3Tf 5Tt 	t? 

(1) 	N4-1ivi( 	1I4-f q-74*f 	 (2) 	fq97I.  '4-Trq 	 -q(114 *1. 1 

(3) 	inc-1 441.5, cil'r PR-HA air 3-1717111. 	-A I 	(4) 	4-1tii 	 chi 3-171.17-9.  'TT-4 A I 

5. 776-17 	Trr ? 

(1) -f-4-m4 .+11-1  
	

(2) 	\)-1) 	Y4-111610 .  0114 
(3) 	mfrr-Pq ci-)`1 ITFTT 

	
(4) 	7Z ,-Fczi 	'ot -q.-1 I 

6. 	.7,T 	it 14 fa 	(-1 1;11-oit 	? 

(1) 	51 3174 	I f-*-41 	4-111(11 I 	(2) 	F,T1471,41-1 -4, T11717rt t I 

(3) 	41 ,,114-111u1(41 	 3-TIWt171 --cd'f t I 	(4)   cich 	 t I 

7. 	'3411-4 721 3174 	 7zII •Fc-444 

(1) 3Tra---4----d-r -4 To 	 4 4-1-1c4.). 3Trqt-g-r 	9T I 

(2) 31-91t74 	cht-ii I 

(3) \AN ci1cI 	iHqT4 	a-*-11 

(4) \-11:1t .qt-d 	3-74 f-*711 	1-11-1-11 I 

8.-ftruteil' cf-C1 7 . 	 TrrLJ  

(1) 	 (2) 	 (3) 	cx-11111R,41 
	

(4) 	cq1IRcbc11 

9. Thlrf -Iff 	? 

(1) 	q-4 	6q5ff t I 	 (2) •4 	39t 7itickT t I 

(3) 	71Z Tqzr 	F-1*()' 72TT 	t I 	(4) 71 	rHIJt 

10. 1:14---1R1 	 Trr   t? 

(1) 	2.T1ITd 	 (2) 	lfrffl:T 	(3) 	4-iiqR1--fcilui 	 (4) 	f4974 ftTZT 
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PART-A 
SECTION-II : LOGICAL AND ANALYTICAL REASONING 

Directions (11 - 14) : 
Each of the following two statements are followed by two conclusions. Assuming that the 
given statements are true, you have to decide which conclusion follows strictly from the 
given statements. Select your answer from the alternatives. 

11. Statement : 	All boys are not students. 
Some students are not employed. 

Conclusions : 
(I) - These boys are not employed. 
(II) - Some employed one are not boys. 

(1) Only (I) follows 	(2) Only (II) follows 
(3) Both (I) and (II) follow 	(4) Neither (I) nor (II) follows 

12. Statements : 	All furnitures are pens. 
All pens are pencils. 

Conclusions : 
(I) Some furnitures are pencils. 
(II) All pencils are furnitures. 

(1) Only (I) follows 	(2) Only (II) follows 
(3) Both (I) and (II) follow 	(4) Neither (I) nor (II) follows 

13. Statements : 	No dog is animal. 
No animal is living being. 

Conclusions : 
(I) No animal is dog. 
(II) Some living beings are dogs. 

(1) Only (I) follows 	(2) Only (II) follows 
(3) Both (I) and (II) follow 	(4) Neither (I) nor (II) follows 

14. Statements : 	No bird has wings. 
All birds are rational. 

Conclusions : 
(I) Wingless beings are birds. 
(II) Some rationals are birds. 

(1) Only (I) follows 	(2) Only (II) follows 
(3) Both (I) and (II) follow 	(4) Neither (I) nor (II) follows

	



%TM 

tgu5 — II : titf 	c * 	 

1-144►1 (11 - 14) : 
t5cr 5R-1. -4 ---.2T-itafrT 3-1 	tfitzb--Ei  t1 W2T9 	ticq 	WT4 Flu ch(11 t 

3T 

rcWe)quIlc-4-1* 71-4-  

Fq 	-‘219r1 cti,k1cr arl-m-ur 

11. 	: 	14* 	ravpil 	t 
1cAsif9-11 	-let I 

itch : (I) 1,-HiRqjqr 	t 

(II) 3,9 	 vi;;F 	 f 
(1) 	4)cirf (1) argffuT chof t1 	(2) 

(3) 	q)-ii (I) * (II) 31 	'r cht .  f I 	(4) 

cntirtI icichc-tii A a-MT dr1( 7197 I 

%."-d" (II) 3171{111 cMil 

t (I) *7 t (II) 3T-1-m- r 	t 

12. WRM : 	RiffiF91W4itl 

TM-4i t 

itch : 	(I) 	-T-0 th-91q7 -eifTrg t 
mil 	th-9-1-w t 

(1) err (I) arlAtur chot t 

(3) Tit (I) 	argrtur cma t  

(2) .*-4 (II) argRvf 9)01 t I 

(4) 7 ti(I) 3t t (II) 3171T111 	 t I 

13. : 	 t 

AlicR trau 	t 
fitchti : 	(I) 	chli 	AticR 111 'ffe t 

(II) -T-0 71-f au MIuil 	t 
(1)%---49 (I) (31-17471 chtc11 t I 	(2) 

(3) 	q 	 (I) 3 (II) 31717131 	t I 	(4) 

14. W2Tff :f*-7,11* -ER-ftt":11N-i • 	I 
Tr* TR4 	t 

fEEFTEi : 	(I) 	tiugli MIUII IR-11 tr- 
(H) vs) 	Trruil Trc t 

(1) 	(I) argRur chor t 1 	(2) 

(3) 	q)-11 (I) aff-{ (II) argrtur cf,; t I 	(4) 

4F (II) 3-TT:17T chtil t I 

7 t (I) *7 t (II) 317RuT cht 

*-4F argrpir chor t 

t (I) 3* 	(u) alTitur cht t I 
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(2) 19 (3) 20 (4) 21 

4 5 
5.T5 25' • -- 

7 6 7 
(2) 

25 (3)  25,r5 (4) 25I 

75, 
(2) 101 (3) 99 (4) 123 

22, 30, 19, 34, 16, 
(2) 35 (3) 32 (4) 13 

(1) 	22 

2 3 
16. 	' 

17. 3, 15, 39, 
(1) 93 

18. 25, 25, 27, 
(1) 39 

8, 
(C) 	(D) 	(E) 

O 
(A) 	(B) 

Directions (15 - 18) : 
In the following questions a series is being given. Select from the alternatives the correct term 
to fill in the missing term. 

15. 5, 7, 10, 11, 15, 15, 20, 

Directions (19 - 22) : 
The following questions are based on the following diagrams. Circles (irrespectives of the 
size or location) represent objects. You have to identify which of the following diagrams 
would represent best the relationship between given terms. 

19. Which of the above five diagrams would best represent - Musicians, Instrumentalists, 
Violinists ? 
(1) (A) 	 (2) (B) 	 (3) (C) 	 (4) (E) 

20. Which of the above five diagrams would best represent - People, Painters, Boys ? 
(1) (E) 	 (2) (D) 	 (3) (A) 	 (4) (B) 

21. Which of the above five diagrams would best represent - Mothers, Fathers and Teachers ? 
(1) (A) 	 (2) (B) 

	
(3) (D) 	 (4) (E) 

22. Which of the above five diagrams would best represent - Men, Women and Children ? 
(1) (A) 	 (2) (C) 	 (3) (E) 	 (4) None 
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(1) 22 

2 3 4 5 
' 5 	' 5f' 25 ' 

6 

17. 3, 15, 39, 75, 
(1) 93 

18. 25, 25, 27, 22, 30, 19, 
(1) 39 

(2) 	19 (3) 20 (4) 21 

7 6 7 
(2) 
	25 (3)  25./-  (4) 25J 

(2) 	101 (3) 99 (4) 123 

34, 16, 
(2) 	35 (3) 32 (4) 13 

16. 

80 

(C) 	(D) 	(E) (B) 

f#VT (15 - 18) : 

-14-1 	ocf mq-414 ci•) sft9T t 	t I fa---q-cl -trq 	 acbc-ki.  14 

15. 	5, 7, 10, 11, 15, 15, 20, 	? 

MT4T (19 - 22) : 

-14-1 cl (.50 	 3-Iftd, 11.  ( 	3-1W13 	fteir-d TO 	t) -97 3TINTIT'd t"7 	at .0 
Pite\RIcf 	t I 	 t- 	F-14--ifiirod -4 74 09-4r aTittg 	TR 7r- f 
31- 1 44q 31-qfiff --tru 

19. -37-ziwr 	13Tr 14*(09-4r aTitu 4i1och14, 	alqiitialqq;1 	F-Rc\ Rid (*Ala ? 
(1) (A) 	 (2) (B) 	 (3) (C) 	 (4) (E) 

20. 31:171q7 47-1 3-11td 14 14 09-Trr 3Tku 06114141,  	 klat1 al-wr -Rc,,-R-r mk 	qr? 
(1) (E) 	 (2) (D) 	 (3) (A) 	 (4) (B) 

21. 31:i4Wf 4Tc1 aTltd 14.4 0-iTTT 311k7N T1E4, f4rn3T1 3 3itzficre 	31"- T r-itc\ 	eh 	 ? 
(1) (A) 	 (2) (B) 	 (3) (D) 	 (4) (E) 

22. ZEPAW141Lf aTitzt -4 4 --N-4r 31-ku - 	Trat 	 F-R4z4cr 	? 

(1) (A) 	 (2) (C) 	 (3) (E) 	 (4) 	Te 
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Q?4 

(1) 	(2) (3) (4) 

re4 
(1) 	(2) (3) (4) 

2 
LQJ  ...419.511} 

rnitflibm rOSTP 

ENii Ei 1 -n ? 
23.  

24.  

25.  

26.  

(1) 

aSISL) LSJ 

(3) 

(1) 	(2) 	(3) 	(4) 

LW-Q.9J rip 

000 0 

Directions (23 - 26) : 
In the following questions, there are two sets of figures. You have to find a figure from the 
answer figures which can best suit the question figure series. 

1 
27. A student gets one mark for every correct answer but —

3 
mark is deducted for every wrong 

answer he gives. In 108 questions his total score is zero. How many questions has he answered 
wrong ? 
(1) 27 	 (2) 30 	 (3) 81 	 (4) 54 

28. Identify the odd member of this group ? 
(1) 13 	 (2) 61 

	
(3) 73 	 (4) 69 

29. In the following arrangement: of numbers how many times 5 is preceded by 4 but not followed 
by 7? 
4 5 7 1 2 5 4 6 4 5 4 7 5 4 5 6 5 7 4 
(1) 	1 	(2) 2 	(3) 	3 	(4) 	4 

30. If 
SHAPE is BURST 
BORE is XLKT 
CLIME is YAPCT 

then BISHOP can be coded as : 
(1) XPBULS 	(2) XEPLST (3) XPALUE 	(4) XPBVLT 
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1Z1 

7 

(2) 

(2) 

(2) 

(1) 	(2) 

(3) 	(4) 

115111Th 

(3) 	(4) 

.(3) 	(4) 

(3) 	(4) 

23.  

24.  

25.  

26.  

LULUS.. 
7 

1116111r MVP 

MF (23 - 26) : 

_qc11i;4 3Tr-Tr-d-z4 t1 i 	 t I 317:1 drIk 31rfr7d74 Ic 	3 	71Icl TT91t- r 

31-r-t-fa. 	 34ctcl tr 

27. fq-ar2T1 	Tre 3-c-R* 	 -5rRt 	t 	c ,Icid 37R t rc-R77* 3 3-fi chid 

t I 108 -5R9)' 	ZTik 	 t 13u-4 ft-A -979)' 	 6rIt `ki  I 

(1) 27 	 (2) 30 

28. *(.4 -qv t. 41: - -Ffq-(zEr 	,Wc-11-1 ••1-r771 
(1) 13 	 (2) 61 

29. ki(sql4t-  14-1 	gct 9i11-1 14 5 f*-dt qii 4 A- 	3ITTI1 t 1:rtq 7 t. 	• 3171T t I 
4 5 7 1 2 5 4 6 4 5 4 7 5 4 5 6 5 7 4 
(1) __ 1 	(2) 	2 	(3) 	3 	(4) 

30. q 

SHAPE t BURST 

BORE t XLKT 

CLIME % YAPCT 

c1f4 BISHOP "T 	f*--ETT 	,wbot : 

(1) XPBULS 	(2) XEPLST (3) XPALUE 	(4) XPBVLT 

(3) 81 (4) 54 

(3) 73 (4) 69 
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PART-A 
SECTION-III : EDUCATIONAL AND GENERAL AWARENESS 
Each question is followed by four alternative responses. Choose the best answer and write 
its serial number. 

31. Gandhiji's 'Champaran Movement' was for : 

(1) The security rights of Harijans 
(2) Civil disobedience movement 

(3) Maintaining the unity of Hindu Society 
(4) Solving the problems of indigo workers 

32. The Programme of Swadeshi and Boycot against the partition of Bangal was visualized by : 
(1) Surendra Nath Banerjee 	(2) B.C.Pal 
(3) Aurobindo Ghosh 	 (4) Rash Behari Ghosh 

33. Right to Education 2009 provides for : 
(1) Free and Compulsory Elementary Education to all children up to the age of 14 years. 
(2) Free and Compulsory Elementary Education to all children upto the age of 18 years 
(3) Free ,and Compulsory Elementary Education to all children in the age group of 6-14 

years 
(4) Free and Compulsory Elementary Education to all children in the age group of 6 - 18 

years 

34. The soft smooth feel of the skin with "after shave lotion" is due to the presence of : 
(1) Alcohol 	(2) Glycerol 	(3) Menthol 	(4) Perfume 

35. The fourth dimension in Physics was introduced by : 
(1) Isaac Newton 	(2) Albert Einstein (3) Galileo 	(4) Neil Bohr 

36. Which of the following is rich in Carbohydrates, Proteins and Fats ? 
(1) Rice grains 	(2) Soyabean seeds (3) Mango fruit 	(4) Cabbage leaves 

37. The main purpose of Panchayat Raj is : 
(1) to create employment 
(2) to make people politically conscious 
(3) to increase agriculture production 
(4) to make people participate in developmental administration 

38. The longest sea shore line is along the state of : 
(1) Gujarat 	(2) Maharashtra (3) Orissa 	(4) Kerala 
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: 	 414.11-0-1 

F-14-irrifigd 14 517)     -uk rache-1. 	t, 5kTT Traffiqw 64111 61( 	74 I 

31. 	Trf'41 gtkr =.4(1111 41if 14-41.tuf 	r -f-*-Tr* 	 Ru? 

(1) 	 t(W 31ftTWR 

(2) -11-c4-ig 	 31-1-T 

(3) w-11,71 	"crTd-f 	 

(4) 	 (-11(1) 	cril err 	TN1-9-  t [ML; 

32. 	zit,-ft chi sbi4 r2.T1 Gmiri ra9-1749* 	farq.  ft-4:r -TT fa---R 2T1? 

(1) 	-9T2.149" 
	

(2) 	-A-.Tft. LIM 

(3) 	37F-Ts .E4rf 
	

(4) 717 -Ntr--  

33. f7R-TT T 3if447 2009 	3t-z4 q;EIT ? 

(1) lyFf •-d-241 31-17-41•4 	P1$i1 14 ati ciao 	3-19 TT* .qQ 	re-R 

(2) 18 	 (=pi ch1 	doh 	Try 	FMI TM- -ff2TT aTI-9-d-14 

(3) 6 .14 -4 14 citi etch chl 3-T9 t 	-qT74i  	72TT 3lti-414 fq-RTT 

(4) 6- 18 (At 349a 	1 i Trtft -q-r70 -k re,t 	 f7R-TT 

34. "3-171ZT ci )-7H" 	 TT{ 	1(4-1 31-Tifff f*--Tf 4q121 	371-T-2 	chRuT 6) 	41 t? 

(1) 3r c 	(2) Peikikio 	(3) 42,TT 	 (4) Ilt:FT 

35. iftr-ff-4 14 -4-WT 3TFRI:11:14--trofivr T 	f-*774 rqqr ? 

(1) 	(2) 3TI 31-faTO (3) '4 	ciq 	(4) 41(4 *7 

36. r-p-ircir(5c-f t( e;t 09-4T f711.  cht.htle., Thai-a.2.0 at-if cu 41 --g-o-d-r 	? 

(1) 	twirl 	 (2) 	4q141-1 	(3) 	Lbri 	(4) 	siq TI IT1 t 1T4 

37. Tc1V-11 .&lssf I 	T 3 	cl-e41 t? 

(1) 	-1111R11 -wr -97ff 
	

(2) 	oqictet41 4 km:retch - er-i1 

(3) -TN 3c-4iq-f TIf-z 
	

(4) 	iii oh) richlk-110111 Tr4qff t -1)177 

38. rr 	f 	l fdZi kt,rq 	TrT2T t? 

(1) q\TRIcl 	 (2) 4iWitl. 
	

(3) 7---)TIT 	 (4) kM 
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39. In India, Diamonds are found at : 

(1) Panna (M.P.) 
	

(2) Golconda (A.P.) 

(3) Khetri (Rajasthan) 
	

(4) Mayurbhanj (Orissa) 

40. The most malleable metal is : 

(1) Platinum 	(2) Silver 	(3) Iron 	(4) Gold 

41. Soda water contains : 

(1) Carbonic Acid 
	

(2) Sulphuric Acid 

(3) Nitric Acid 
	

(4) Carboxylic Acid 

42. Who said, "The Principles (Directive Principles) should be made the basis of all the future 
legislation"? 

(1) Pt. Nehru 	 (2) Dr. B.R. Ambedkar 

(3) Dr. B.N. Rao 	 (4) Dr. Zakir Hussain 

43. Indian National Congress was born during the Governor Generalship of : 

(1) Lord Ripon 

(3) Lord Dufferin 

44. Chanakya was also known as : 

(1) Bhattasvamin 

(3) Rajasekhara 

(2) Lord William Bantik 

(4) Lord Curzon 

(2) Vishnu Gupta 

(4) Visakhaduta 

45. Which one of the following is NOT an astronomical object ? 

(1) Pulsar 	(2) Brittle star 	(3) Black hole 	(4) Quasar 

46. Who among the following Gurus introduced the Gurumukhi script for the spoken language 
of Punjabis ? 

(1) Guru Nanak 	(2) Guru Angad 	(3) Guru Amardas (4) Guru Ramdas 

47. Mudaliar Commission had focussed on : 

(1) Elementary Education 	(2) Secondary Education 

(3) Higher Secondary Education 	(4) Higher Education 
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39. T714 •gla ch4 f1,17 t? 

(1) 	1177 ( 74.31. 	 (2) 	4i och sr ( 3-Tfu -i;rkt4T) 

(3) lird* (ITW-RTN) 
	

(4) 1-1V47 (33117) 

40. 1:i+-irort✓ cf 	091:ff Nrg Traffw 33E174t74 t? 

(1) tftiR 	(2) 	 (3) 
	

(4) -fr 

41. 1ft cild( 14 :EIT i 	i t? 

(1) 	chicir-icil 3-TR;f 	(2) 	Ti'kTT 13TTf 	(3) 	'ffreff 3Tif 	(4) 	ct) 	IcarcHircich 3T31.  

42. zrz- 	*W2.1-itft f9-- VTW fFE4R 	4f-a/74 -4 	fqfN -ft3:617 3T7NR 	►q    ? 

(1) 	14. 	tc\ 	 (2) 

(3) 	T. *7. 1Tq 	 (4) 3T.7t*-{ 

43. 7q 	7Tt7 -11")7,f 	T11 3F T11:14 	700 X1-1(i on -I 247 ? 

(1) 	oi  
	

(2) 	ii 	 reirri ► H tifET 

(3) 	(II•1-5F9 
	

(4) 	clig 	 •Tti 

44. milul 	 T:iT QTr ? 

(1) 	(2) fqlsujiFf 
	

(3) tlAt.V 

45. r-i 4-1Foro1 14 -A 09Trr lrn 	t? 

(1) 	47Ht 	 (2) 'NZ-9 tilt 
	

(3) 

46. it7TFW g 	RI *-dl• 	•qT91 9W M -4 7€13-d-  'ffcf f*- -q 	? 

(1) 	 (2) 	qt. atn-q 	(3) 	73-17crif 

47. alTzT)TT 	M-1-*71•ft14 ITT ? 

(1) 	m ► ji.T" fTqf 	 (2) 1:ITtilfriW f7RTT 

(3) d'calclk 	liTufgf fMT 	 (4) a-cct fM1T 
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48. Rashtriya Madhyamik Shiksha Abhiyan (RMSA) is : 
(1) a programme run by NGOs and supported by the government. 
(2) a programme sponsored by donor agencies from abroad. 
(3) a programme run on "no profit no loss" basis. 
(4) a programme of the Government of India for Universalization of Secondary Education. 

49. A committee in the post independence era that looked into various aspects of vocational 
education was headed by : 
(1) Ishwar Bhai Patel 	 (2) Triguna Sen 
(3) Malcom Adisheshaiyah 	(4) M.G. Chhagl a 

50. The concept of Neighbourhood schools was given by : 
(1) Radhakrishnan Commission 	(2) Mudaliar Commission 
(3) Kothari Commission 	 (4) All the above 

51. Basic Education was conceptualized by : 
(1) Dr. Rajendra Prasad 	 (2) Dr. Zakir Hussain 

(3) Mahatma Gandhi 	 (4) Rabindra Nath Tagore 

52. The World Conference on Education For All (EFA) was held on Jomtien (Thailand) in the 
year : 
(1) 1986 	(2) 1990' 	(3) 1992 	(4) 2000 

53. District Institutes of Education and Training came into existence owing to : 
(1) Recommendations of Kothari Commission. 
(2) Recommendations of the NCERT. 
(3) Recommendations of National Policy on Education (1986). 
(4) Recommendations of RamaMurthy Committee. 

54. Quality of school education can be improved by : 
(1) providing more trained teachers. 
(2) improving text books. 
(3) improving classroom processes. 
(4) All of the above. 

55. Education for values cannot be imparted formally because : 
(1) values are disputable 	 (2) there is dearth of teachers 
(3) these are acquired by grown ups (4) these are caught and not taught 
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48. 7TitLT 7111-zifrfT fq-RTT 311*119 : 

(1) 	 Lt-11 11149114 t 	A-T—Htchlt WI&1 -401 t'117 f 	titmit'TT TF149 MI7 t 

(2) 1  chi45411-I 	fit4- 	qvi 	 t 

(3) -kTIT w491141t 	f-491 c11iT-t491 0-1 	3-1ThTTT 	nI(1111 z1111 t I 

(4) liTrd ..-i,tcr)1{ 	shi49h 44 t rs3-Rieh 	I 3t7zr 	'NWT 	TfT4 iftil:TT717 * I 

49. 	k-cic-Not -51Tri7t 4q=4R-1 a'11 atiTifrIffffir c411c1k-11 qcf.) f tiur a-) a 9.m -q---q3-ff 3-ww 
2Tr 

(1) 	tv-a-Ti-Tr 	 (2) 	'NTT k1.1 

(3) 	4-ic,1-41-4 31ft*tzE1 	 (4) 	14-1.4-. optoi 

50. 1-#41 Fc15.1101 (Neighbourhood school) sh 3-T-d 	fTTI-4 ? 

(1) 	7-1?--.11 -)bul 3iTOT 	(2) 	TTF-d7R 3-1-PtIT 	(3) 	T)--dt 311thri 	(4) 	31:14-4T1 T 941' 

51. 	f 	fq-rql 	A-Hqicir 	qr ? 

(1) 3T. tip W-11q 	(2) 	7TFT7 749' 	(3) 	TINT 	(4) Tr-- 12T 

52. ti4 fMIT 	fwd 	 2,Trtft (Q41-1) T .E3Tr qT, f i 	T1 -31r ? 
(1) 1986 	 (2) 1990 	 (3) 1992 	 (4) 2000 

53. rsf1/4ae. --Ttaaa '31-1cF -crikvrff 	1F-iir fir 	31gt-m4 	31-rm-{ -Ert 3if 	31-7? 

(1) T18-R-  31701 	 (2) 7.T11..'1.317..t. 

(3)7T13,7-1?4 PRTT -Irci (1986) 	 (4) 	Trn-Tf4 4F-Trfff 

54. 	PITT a-)1 	Ult q-qrt I1 	t ? 

(1) 3TRT NNTfkiu 349Ar4a-) 579 wTk (2) 	41d,1y-c-111). 14 TIT{ clIcht 

(3) 	.T'f a,17f-TTITA 14 TUT ritslIt 	(4) -31:171-4TT T19# 

55. 	 31'rtrqrfr. 	.4 -le 	 : 

(1) c raaiqmq 	 

(2) 3WITEITi 	-T1# t-  I 

(3) cV-R-ch 	3TTi f c41t 	t I 

(4) TTe:4 	3P--1-11,1-1 -0 fTzfr  	T5174 -Tor fi mill t 
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PART-A 

SECTION-IV : TEACHING-LEARNING AND SCHOOL 

56. A school curriculum can best be defined as : 

(1) sum total of knowledge to be provided to learners 

(2) the sum total of organised pupil experiences under the patronage of the school 

(3) the complete array of the courses of study 

(4) all the materials used to further pupil's activities 

57. The chief objective of organising work experiences in school is 	 

(1) preparing youths for future vocations 

(2) establishing relationship between school and workplace 

(3) providing free time to teachers after engaging students 

(4) co-ordinated development of learners besides cognitive development 

58. Who should' select the Instructional Materials ? 

(1) The teacher 	 (2) Head of the Department 

(3) Principal of the institute 	(4) A committee of experts 

59. Why should classroom furniture be movable ? 

(1) it is easier to maintain 

(2) it helps maintain discipline 

(3) it suits to the different instructional needs 

(4) it is economical in cost 

60. What should be the primary function of a school as an agent of society ? 

(1) To maintain social norms. 

(2) To prepare the child for social life. 

(3) To provide students understanding of their environment. 

(4) To develop vocational competence among students. 

61. What should be the main goal of the school learning process ? 

(1) Development of potentialities of the learner 

(2) Assimilation of knowledge 

(3) Development of learners in both cognitive and non-cognitive areas 

(4) Development of values and attitudes 
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u5-IV : 3-TaTITF-alf&TIP1 	a (ASIR-v..1 

56. 	rcM110g1 41qq-clq 	tic i - 4r0.1TEIT t : 

(1) *-1 -5KF f-*--zrr 	 .71-ff 

(2) r°MIIMi 	ftkliTT 	fa-- ITF2iA cf-;1-  •;1q#2.Tff 31 -Ifffif • -1-411•T 

(3) tilqi9b,-( et>  

(4) 7-4 -k fwqr chC114 (4,1 	 wa-zh-rr 

57. fErrffz4 	-rzffTirq 	31*19' chi 4-1.97F 	: 

(1) T1 a-1 9f-a-GET 	 rc-R 	t 

(2) -T-P--T 	FcM1IcV-11 TIT-4q WC-97 ch(-11 t I 

(3) ITT 1T74 -13R-Mq,33tzITEE4 	wr Tp=r-zr 	 t I 

(4) 47n-tio-ich 	TIT2T-71T24 3i 	J3 1i TirrifcTff 	c1-)-I I t' I 

58. tqFTITTITgit "I•qT19 fW4 	 

(1) 31GIT9-  
	

(2) fTliTTEMTRT ml 
(3) *-247 •511- 1-4 
	

(4) fOrtsr7.1. 1-  

59. 	 (-11-4-4) 61-11 	 

(1) --FIST 	t ch(11 	61if I 

(2) 3-1-"FrITF chlq4-1 TU4 14 	10V-1 I fTro-cft 

(3) 	RAM -01117T-  311-47-4WM34     tl 

(4) 101{ tTqf ch4-I 33FOT t I 

60. 	0,4-177I 	tc\ 	fasno,f 	 3Ffr X1.11 -cfir? 

(1) (114-11F,ich 4 rT9-4 1 cniq,4 	 

(2) kii+-iir\ioh 	rmi NTT 9T 
(3) fq-Efliqz4 -4 39-k gqicituf 	•51t *.T mcfrf 

(4) fq-EITNA 	ogiciiiRict) zl'f•rzUT r -fq-WR:i 011-11 

61. 	ksiic-i41 3ifq711* Tif"*--74T 	 -if mil 	6q? 

(1) aitz -d-Q ct>1 	 ch(-ir 

(2) TfT1-0-7f cht 	it 

(3) 	 .U2TT 	 14 3w)--dr4 'TT fd-*--R:17--iT 

(4) 77:4 -ff2TT 	 fir 
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62. A teacher should be well versed with the theories of learning because : 

(1) it helps the teacher to know the needs of the learners 

(2) it helps the teacher to understand the attitudes and interests of the learners 

(3) it helps the teacher to know the ways different students learn 

(4) it ensures discipline in the classroom 

63. What should be the basic determinant of a good discussion in a class ? 

(1) Skills of the teacher 
(2) Knowledge of the teacher and students 
(3) The unity of purpose and interest of the class 

(4) Mastery over the topic 

64. Which one of the following can not be related to identity need of adolescents ? 

(1) Need to get higher achievement 

(2) Need to be recognised 

(3) Need to belong 

(4) None of the above 

65. 'MLL' is basically an approach which assumes : 
(1) all students can learn a task 
(2) every learning task can't be learnt 
(3) objectives can be achieved if defined well 

(4) none of the above 

66. The modern concept of Education is based on the belief that : 

(1) it rely only on concrete experiences as the medium. 

(2) child should adapt to the needs and goals of the society. 

(3) education should synchronize with child's motives, needs and interests. 
(4) academic competence should play a supreme role. 

67. Probably the greatest satisfaction in teaching is : 

(1) a feeling of love for and by children 

(2) a sense of service to mankind 

(3) a secured monetary gain 

(4) a sense of contribution to pupils growth 
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62. vrn 3i TT 	("'R 3TfiqPi t 	oh 3t13TftITTTT ft;r4fd   t, cfq.  fT : 

(1) 13434wrtr* .A 3:f%td-r4 -A31-r4v-q*--dra-ff   	frro-t t 

(2) TqA 31.,,Trrcr-4 	3-ThirdT3i 	 .U2TT 	 -R145T4 	 fgrfft t I 

(3) Tr-A 34t.trrcr-4 	zr-- ,11-14 	 f/Tff-dl.  t fa, 3w)--ffr rch-f-rob-r tcoil *z§rA*--  

(4) r 3-171177 tr-f 	61c-tr t- 

63. 	ITT 14 	, 31-7,34 mi.c41 	,trf 	 qzrr 61-if 	 

(1) 3Tarrg-* 

(2) 3T-z117--  rciOlf074 411.1 

(3) *au 	33t-T   1 	1 

(4) flisttf 

64. fwvM 	 :zr: twcivi A F-1,--irortgd -4 A -A-9Ar #4-rq-d.  -0 t 	 

(1) 	-1-T-4-a.T .141 317d77*-71 	(2) 1:1-67.4 ,414 	3Thd71-*7T 

(3) A-Iffq-ff 614 a,1 3-11-477TWM 	(4) 3971TI 14 A -*-'rt 

65. 	MLL 	31fTTR -c-It) 	tcNI-1 .4 	-)   t f 	t 1-1I-4111 	: 

(1) fTTft 	Tf9# tdE11211 QTr-* t I 

(2) TA.  3TRITTTIT 	4-8( -161 	t I 

(3) 4'5 1-141 	LIFOITFIM f*7 	 -R-r7r f*-4t 	kichor t 

(4) -a-Erzl*T A' A -A-1 -0 

66. f7R-TT 	31T 	31-4`MI1T r I1oc1R4 TIT 3741f77 t 	: 

(1) tc\ 	 14 *T@ T'2T9 3TTITq t fel 	kotti 	t I 

(2) 3-7-474-*--dTA3 	*31-1-t----  Go-if 	 I 

(3) GI 	trur -3Ak 3, , raid 	3Tfil-TW 	t I 

(4) 7'1-10Tfail:MT liCaT 9If:F*114 6-n -c44r' I 

67. "Ward-d: 33 qi tid A -4* 74-etz : 

(1) .1-4 • t 	AT 4Q giu 746w iTrd 

(2) 4-11-icr 	mrd tlar 1-TIq 

(3) ct.) TIU-d  37516 7rIT 

(4) -qQ *fd---Fr *717 11791 
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68. Who would be the worst sufferer in common school in terms of scholastic achievement ? 

(1) Backward child 
	

(2) Girl child 

(3) Normal child 
	

(4) Gifted child 

69. Readiness of a child for a specific school subject would depend upon : 

(1) his physiological maturity. 

(2) his previous academic achievements. 

(3) his motivational level and self-concept. 

(4) None of the above 

70. The best rationale for the use of A-V aids lies in the fact that : 

(1) it facilitates teaching - learning process. 

(2) it makes learning concrete. 

(3) it activates our two senses. 

(4) it is just other way of doing the thing. 

71. 'Epidiascope' equipment can be used for : 

(1) seeing things clearly 
	

(2) projecting an opaque object on screen 

(3) copying an object 
	

(4) enlarging an object 

72. Which of the following can not be a part of a test to measure intellectual ability of a 
learner ? 

(1) To meet the demand of a situation. 

(2) To learn and use past learning. 

(3) To solve the problems which a learner confronts. 

(4) To make sound ethical judgements and moral decisions. 

73. In which area of the following maximum transfer of training is possible ? 

(1) Memorization 
	

(2) Generalization 

(3) Perception 
	

(4) Habit formation 
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68. 

69. 

-F-tz 	 YulIC11 	Aqi-f4Tik -fa4t 61J11 ? 

(1) 	fE1-93T 	 (2) 	(-15,*1 

(3) 	 (4) 	91-i5-TIFT 

f -Erzi 	cic401 fWTT -ER f9-0 tci t? 

-6-70 	16, LIR,AcRic-i-r (1)  

(2) zti-cffraFit 

(3) 3-TM-rur cri:Tw -'ff2TT 3-T17-14--51 

(4) air 4 A 

70. T 	T Trrtk 	Tizn-TT 	 2.7( ITT 31-m-rft-ff t : 

(1) TA A 34wrq9-31NIT4 I 	Mfr 7-14 tr AR-11 t 

(2) 31NTTrf 	t 	t I 

(3) -4 Tit 	Trf--71 	t" 

(4) 4-11 	zi 	 TzFr ff-T1-0 t 

71. ‘-15140t--ch 	1-1(41•031 ont t_lcf 	rcrk t. ? 

(1) Al3t -0 71-Ea 	A - g-4 	ki 

(2) f*-711. 3-i9Rq 1q 	Th-17 	T -1;rif-Erff 

(3) f-1*-4-  •q--9m1 lct,(4 TJIT4 

(4) f- 	 fq-UT-4 

72. fit 3T 	1Cil a1 Ofogw 	I:1174kit& f-11--I(rlfttcr *f 9471.  -1c6c1t? 

(1) fWTFT 3T4FT-P4t at1 3-1IqFT-*-dr * 714 cm-ir 

(2) 1-d 3-TNTIA 	TII-U91 3t1-T 	7.3cR4T1 

(3) 3.1V 4M 	3TA 	TWRzfRif 'Wr TIRMT9 cbt9T 

(4) t-{:1 	er fffuN cht-fi 

73. P1+--irrif5c1 4 f-*71 	31-N-TTR 3-Ifq171 3-7- 71T #9q.  ? 

(1) 	1-RIJ1 	 (2) TIP-IM 0601 	(3) 	31-149 	(4) 	3ITT:4 ITT f9Tr1nt 
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74. Which of the following is likely to be the greatest threat to an emotionally insecure child ? 

(1) No discipline at all 	 (2) Over-indulgent discipline 

(3) Adult - imposed discipline 	(4) Self - regulated discipline 

75. What should a teacher do, in order to promote long-term retention ? 

(1) Avoid occurrence of mistakes. 

(2) Encourage remembering the material accurately. 

(3) Use the material during discussion and provide some more advanced material. 

(4) Reinforce the learning with the introduction of similar material immediately. 

76. The art and science of teaching to adolescent learners is termed as : 

(1) Andragogy 	 (2) Pedagogy 

(3) Teaching Technology 	(4) Behaviour Modification 

77. Which one of the following is the right sequence of the process of teaching ? 
[ D --> delivery ; E --> Evaluation ; F —> Feedback K —> knowing the target learner ; 
P -p Planning ] 

(1) PKDEF 	(2) KPDFE 	(3) PKDFE 	(4) KPDEF 

78. What is the basic difference between Teaching and Learning ? 

(1) Teaching is mediated behaviour, learning is not. 

(2) Learning is mediated behaviour, teaching is not. 
(3) Both are mediated behaviour. 

(4) There is no difference. 

79. On a particular rainy day, your students are not in a mood to study. What would you prefer 
to do ? 

(1) ask them to go to the library 

(2) revise a lesson 

(3) organise a quiz programme on a topic 
(4) give dictation 

80, Which of the following would be the best way to inculcate value - co-operation among your 
students ? 

(1) Organise a lecture on the topic (2) Organise cultural programme 
(3) Organise a camp for one 	(4) Playing a role model 
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74. '47:ft ilT4F- 	tc04 A 31--ff-{-rw 	t 	 _qcf -4 *1 OTqT A-0 cisf tgoti 	t? 

(1) 	3-117TRTff chf 	3141ta 
	

(2) 	34t-3-11747 3-17T719.  

(3) qz1F4 gRf 	4 lif 3-17TR:17 
	

(4) 	t-cir-tqii-ich 317TWF 

75. rf T 31-q-RT 	31aliffur 	ml 0151,41 	r1 	 Lc 31 	w 	c4 l cm-a -c411? 

(1) 3P1r-4-4f t ra1cr 614 	t “5-11 

(2) ArAlt 1 	tc\4 14 qlq Pg4 	 cM-11 

(3) chi -5RTh 31 t 3.-Trq writ 41,:q114-1;i1 qcvi 	 

(4) slci 11:11-  t TrFrth- (6qior) gio 31ftrrr1 	4mf 	1c1 a.) -11 

76. .4-71r{ 31OMA 	3-The-114-1 ch 	T 3 t -FaT-ff apt cteat -114-1 	qqi '1icil  

(1)14.r1,711- 	(2) 	 (3) 	a 	. ch-11(.41'1 	(4) 	ciciR 

77. 31WIcri -9-r-wzrr 	F-p--Irorud Al A 	Ir 31-1-W11.  drt4ci t? 

[ D 	rsFocrl ; E ---> 1-r-11011-1; F —> 	f1 K --> 	 ; P ---> 7479-r 

(1) PKDEF 	(2) KPDFE (3) PKDFE 	(4) KPDEF 

78. 31..zfT79.  at{ afeTTP:F IV' 3-td-{ cl-q1 t ? 

(1) 31g T9 	-14 ,74T-2.7( ciaR 	33N-TrA 	* i 

(2) afg-TP:r ic=h 1:1"WT-2T ogriR t 31"Wicl9 	 

(3) q'll *  t 	oqcIW t I 

(4) ql-11   t 

79. f*-tit fq*Isi 	\TIGLq-EfretTa t 31Tcrk fa-Er1211 1:1-q-4* 4is 	t 1 311cr TEIT 	Trge4.14 ? 

(1) \7111 

(2) -ft-0-A LIld 	 

(3) -47ft ratii ITT 	 . r-dT-2TT -TffT 

(4)  

80. 7774TE 	c) q-Q ractAct ct 	7491:f fait c4-611 t? 

(1) 3t1 fq-Erzr -ER 1, -u-n-carr9- 

(2) .-Iit.cprcich ch149n 4-f a.1 	Tr cm-ti 

(3) 	 404 	 

(4) 4̀.:f--1 3TfiT975Ifcifi4ur 
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PART-B 
SECTION-V (i) : SCIENCE 

81. Refractive index of a medium : 
(1) has no unit 
(2) has an unit 
(3) has a value equal to 1 or less than one 
(4) has a value less than one 

82. Three primary colours are : 
(1) red, green and yellow 	(2) red, green and blue 
(3) green, yellow and orange 

	(4) violet, yellow and red 

83. Which physical quantity is represented by Coulomb per second ? 
(1) charge 	 (2) electric current 
(3) potential difference 	 (4) resistance 

84. A wire of resistance 2 ohms is bent in the form of a closed circle. The effective resistance 
between the two points at the end of any diameter of the circle is ; 
(1) 0.5 ohm 	(2) 1 ohms (3) 2 ohms 	(4) 4 ohms 

85. The frequency of an alternating current whose direction changes after every 0.01 second is : 
(1) 1 Hz 	(2) 2 Hz 	(3) 50 Hz 	(4) 100 Hz 

86. How much solar energy will be received by 1 m2  area in one hour ? 
(Solar constant = 1.4kW/m2) : 
(1) 1400 x 1 J 	(2) 1400 x 60 J 	(3) 1.40 x 60 x 60 J (4) 1400 x 60 x 60 J 

87. Speed of light is maximum in the following (out of 4 given media) 
(1) water 	(2) glass 	(3) diamond 	(4) air 

88. Average age of red blood cells (RBC) is approximately : 
(1) one day 	(2) 30 days 	(3) 60 days 

89. On adding lime juice to distilled water its pH : 
(1) remains unchanged 	 (2) becomes 7 
(3) becomes less than 7 	 (4) becomes more than 7 

90. The valency shown by an element having atomic number 12 is : 
(1) 1 	 (2) 2 	 (3) 4 

(4) 120 days 

(4) 

B.Ed./2011 	 32 



14PT-'a 

tgu5-V (i) : f""d7T9' 

81. f*-lt 	3-TI:MtifW : 

(1) 
	

(2) T-Tt 	t 

(3) 	HI-I 1 3-12T-dT 1 "A 
	

(4) 	Tiri 1 tf 4-1 	 t I 

82. 17f2TFI 	t : 

(1) 
	

(2) 	oici, 	-I 

(3) 
	

11-17r 7-4 -11 ,11 
	

(4) 	ATr*, 1:117T I1  (Ito 

83. c1TU yin 	 74-rim t? 

(1) 31f-4 -r 	(2) fq7 NRT 
	

(3) faT7T 	(4) 1>frefq 

84. 3 T -gfeRT 	t) 	 t tc\414 	fq7141qf t I 777 t f*-7:11-.647:r 
f-414 •k 7494 -prral. -5(r*ET 	 : 

(1) 	0.5 31)14 	(2) 	1 31)13 	(3) 	2 31)14 	(4) 	4 31)7 

85. qm (4,1 fq-wr 	 ti Tq--*.'r 	t :  
(1) 1 Hz 	(2) 2 Hz 	(3) 50 Hz 	(4) 100 Hz 

86. 1 	141 m2 	f*--dt tt4 	-51-71 	? (AT r-1 	clict,---1.4kw/m2) : 
(1) 1400 x 1 J 	(2) 1400 x 60 J 	(3) 1.40 x 60 x 60 J (4) 1400 x 60 x 60 J 

87. 1'14"i 4 1:r1 	M CtO f 	flrcr 	 3Trw. 	t? 

(1) 7914 	(2) min 14 
	

(3) t{  14 	(4) 79.4 

88. oirf TWE chuff 	*17 319 wrwr : 

(1) Lm f9 	(2) 30  
	

(3) 60 R-1 	(4) 120 f7i 

89. 377 zio 	fgrFT4 .517-*-T pH : 

(1) 	3Ttrft--q-f-4-  	 t I 	 (2) 	7 alai I 

(3) 	7 tf chH 6)lit I 	 (4) 	7 A.    t 

90. 777 9to-Ilch 12 7 	444 ,44)11 t : 
(1) 1 	 (2) 2 

	
(3) 4 	 (4) 6 
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91. Chemical formula for baking soda is : 

(1) NaOH 	(2) NaHCO3  (3) Ca (OH)2  (4) Na2CO3  

92. Pure gold is : 

(1) 1 carat gold 	(2) 18 carat gold 	(3) 22 carat gold 	(4) 24 carat gold 

93. The agency responsible for running space research programmes in India is : 

(1) IRS 	(2) U G C 	(3) ISRO 	(4) IARI 

94. The first Indian satellite sent to space was named : 

(1) Rohini 	(2) Dhruv 

95. In Hydrilla plant stomata are present : 

(1) On stem 

(3) On both stem and leaves 

96. The excretory unit of kidney is : 

(1) neuron 	(2) hormone  

(3) AryaBhatt 	(4) Sputnik 

(2) On leaves 

(4) No where as they are absent in Hydrilla 

(3) photon 	(4) nephron 

97. The author of the book 'The origin of species' is : 

(1) Charles Darwin 	 (2) Lamarck 

(3) J.D. Watson 	 (4) Weismann 

98. The time period of geosynchronous satellite is : 

(1) One hour 

(3) Twenty-four hours 

(2) Twelve Hours 

(4) One year 

99. If we draw a V-I graph for a conductor (V = P.D. across the conductor and I = current flowing 
through it) it will be as shown in figure. 

(1) 
IT 

(3) 
V 
	

V-► 	 V-►  

100. AIDS is caused by : 

(1) Fungus 	(2) Virus (3) Bacterium 	(4) Malnutrition 
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It 
(2) 

It 
(4) 

It 

(3) 

91. Ur4 t74-gT chI (R-Itir 	ai 	t 

(1) NaOH 	(2) NaHCO3  

92. -qjztTh1 	I t 

(1) 1 ti-a  	(2) 18 Z 41 	it 

94. 3f-cif 	 ITRtzf 641,1 WT : 

(1) 	 (2) V 

(3) Ca (OH)2  (4) Na2CO3  

(3) 22 *Ta 41-11 (4) 24 tTa 

ISRO (4) IARI 

(3) 3-TTzi'lq (4) -For.-1a, 

93. ITIM 	3-td-ft-T -qff'q a,1491-0-1 - 1014 	d49h4-1 t : 

(1) IRS 	 (2) UGC 	(3) 

95. 	t : 

(1) 	-c1-4 ITT 

(3) 	-ErW 	ITT 

(2) try 117 

(4) 	-0W 	c‘ir 31--Tif-T2m 	t 

96. cActch 14 6c*-1 -(T*1tt: 

(1) Vi 	 (2) TTI'lYi 	(3) 7Fieri 	 (4) 

97. 4 "q ArTf-Ti 3t-F7447' 	: 

(1) 1 sitroll 	(2) 'MIT* 	(3) 	clIdtil 	(4) 	cii*A1-11-1 

98. ii--y-qa-)troch  	T t : 

(1) 	 (2) 	'Wt-t 	(3) 	4-41-Tr  	(4) 	̀t.) 

99. 	 V-I a1-h 	 : (V = 	alf 1=f #1-{11zR fdirdtff{, I = 

100. AIDS 	chRui : 

(1) 4-)41F{ 
	

(2) 
	

(3) otd 	(4) T1:41TQT 
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PART-B 

SECTION-V (ii) MATHEMATICS 

101. The value of 

(1) 	1 

102. The smallest 

1  + 	1 	+ 	1 
V2 	V2 	V3 	V3 +  V4 	v8 + 	

-  i 
1 + + 

+ 

(2) 	— 1 	 (3) 	2 	 (4) 	— 2 

number which is a perfect square and contains 7936 as a factor is : 

(1) 	264016 	(2) 	241606 	(3) 	246160 	(4) 	246016 

1 	1 1 

103.  The value of 1 	Na-c 1 	x 1 c-b is 
Xa-b 

)1)-a 
X1D-c  

( 
xc-a 

(1) 	0 	 (2) 	— 1 	 (3) 	1 	 (4) 	2 

104.  A sum of Rs. 1200 is lent partly at 6% and partly at 4%. If th•total interest for 3-1i.  years be 

Rs. 224, the amount lent at 6% is : 

(1) 	Rs. 800 	(2) 	Rs. 252 	(3) 	Rs. 224 	(4) 	Rs. 168 

105.  A's share is to B's share as 3 : 4 and B's share is to C's share as 6 : 7. The ratio of the shares 
of A to C is : 

(1) 	12 : 14 	(2) 	9 : 12 
	

(3) 	9 : 14 	(4) 	4 : 6 

106. The price of sugar increased by 25%. How much percent should a man decrease his 
consumption so that there is no increase in his expenditure ? 

(1) 25% 	(2) 20% 
	

(3) 15% 	(4) 10% 

107. The list price of a pen is Rs. 160. A customer buys it for Rs. 122.40. lie gets two successive 
discounts - one 10% and the other unknown. The rate of second discount is : 

(1) 4% 	 (2) 5% 
	

(3) 6% 	 (4) 8% 
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1 	 1  
11 \c-b X  	( 	 : 
■ X 	

b-a X 
b-c 	Xc-a 

(2) 	- 1 
	

(3) 	1 	 (4) 	2 

1 	 J-c 103. 	a  
xa-b 

(1) 0 

9ITIT — 

(5us - V (ii) : Tarra- 

1 	1 	1 	 1  
101. + 	 +  , 	+ 	+ 18- + 	74-11-{ 

1 + 	,2 + 	.13 + J4 

(1) 1 	 (2) 1 	 (3) 2 

102. -era wrt  	s 7936 t c1 	t : 

(1) 264016 	(2) 241606 	(3) 246160 

(4) 	- 2 

(4) 246016 

104. 1200 .tt-R ch1 	 TO 6% at TO 4% 	1:1T 3NTT 	 t I 7Tf 31"W  	"fr7 

224 TT 1, c 6% - 1-17 -97 	7114'4T 	: 

(1) 800 Tcr7 	(2) 252 TI17 	(3) 224 TT 	(4) 168 Ttr7 

105. r6 13B f f-6-Rzrr 3: 4 3-fl-TBT -FTR'IT 3117C -ffeiT 6: 7.t1 A 3 C 	t-q• 3-TTITU 
Q 	'If : 

(1) 	12 : 14 	(2) 	9 : 12 
	

(3) 	9 : 14 	(4) 	4 : 6 

106.TrJ -44 25% 	t 	 ch1 -urr-d f 	ry ci-)44 	CI 	-ffifT; 341-{" 

(1) 25% 	(2) 20% 	(3) 15% 	(4) 10% 

107. 	aTahf 	Tr:f 160 --1:17t1 	 T.122.40 -4 -UTI-01t1 #19+-M: 	d t- 
cb 	10% AT TT(1-0:a obi 1:1-d1 	t I -Vift '3-Z chi T : 

(1) 4% 	 (2) 5% 	 (3) 6% 	 (4) 8% 
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108. A man sells a,toy for Rs. 80 more than he paid for it and realizes a profit equal to two-fifths 
of its cost price. The cost price of the toy is : 

(1) Rs. 300 	(2) Rs. 250 (3) Rs. 225 	(4) Rs. 200 

109. A train takes half an hour more to do a journey when it is running at 25 km an hour than 
when it is running 30 km an hour. The length of the journey is : 

(1) 	200 km 	(2) 150 km (3) 	100 km (4) 75 km 

sin  270 2 ± 

( cos 63° ) 
cos 63° 2  

110. The value of 2 sin 300  is : 
cos 27° 

(1) 	2 	 (2) — 2 (3) 	1 (4) — 1 

111. The value of 0 less than 90° which satisfy the equation 3 tan 0 + cot 0= 5 cosec 0 is : 

(1) 30° 	 (2) 45° 
	

(3) 60° 	 (4) 15° 

112. From the top of a building 60 metres high the angles of depression of the top and bottom of 
a tower are observed to be 30° and 60°. The height of the tower is : 

(1) 40 m 	(2) 40.J m (3) 20 m 	(4) 20 Vj m 

113. The ages of 12 persons are given below 

48, 42, 47, 43, 48, 56, 50, 56, 65, 56; 65, 60 

The modal age is : 

(1) 65 	 (2) 56 
	

(3) 50 	 (4) 60 

114. A room 5 m long and 4 m wide is surrounded by a Verandah which occupies 22 sq m. The 
width of the Verandah is : 

(1) 1 m 	(2) 1.5 m 	(3) 2 m 	(4) 2.5 m



108.  "6:ff4iT cf.) 	f 	fszR-1 17:1 -97 fg109T ZT 	f 31:174 80 	4 	3-Tfqwr f zTt 31?(*q-dT t3  7f 

2 
*OW 9p4 31Tra -wra-r t 	fur 	941q 11-F1 t : 

(1) 	300 t)t-K 	(2) 	250 to-R 	(3) 	225 to-K 	(4) 	200 't)LR 

109.  .(141141 grq 	.) 	25 fT...3:ft. 	 4116 *f 	71t 30 fW. 	.Ord sfal 	+t fn 	-qA .) 

7q ef-); 	tr7-. 44.  aTrqr 	Trrig (14 	I 	-4-d-r-47 a7-  f9fv-q-d 71- 	t: 

(1) 	200 f" .. 	. 	(2) 	150 	 (3) 	100 	 (4) 	75 

27. )2  (cos 63° — 2 	30° 	-1:17 t 
)2 	

sin 110.  
(sin 

cos 63° cos 27° 

(1) 	2 	 (2) 	— 2 	 (3) 	1 	 (4) 	— 1 

111.  90° 	ch+-1 0 *11:17 	 3 tan 0 + cot0= 5 cosec 0 . 'f 	7Z ohm t, at t : 

(1) 	30° 	 (2) 	450 	 (3) 	60° 	 (4) 	15° 

112.  60 1:1-1-6T 	-4liq-9'* .rqTUT *917 * fl-a7 	 uf 	*97 *cio 	W4:17f: 30° * 

60`11 1#97.iv'it t : 

(1) 	40 It. 	 (2) 	40 /3 Tft. 	(3) 	20 A. 	 (4) 	20 •,[j1:11.. 

113.  12 cqFck-lq• 	 t : 

• 

48, 42, 47, 43, 48, 56, 50, 56, 65, 56, 65, 60 

3-117i t : 

(1) 	65 	 (2) 	56 	 (3) 	50 	 (4) 	60 

114.  cI 0114-R15 1#-6T •l 3 	4191-E7 	riF4 	-) oRtHqf 	22 	TfTzT t I 	TTI7k 

(1) 	1 T137 	(2) 	1.5 -41h7 	(3) 	2 1#7 	(4) 	2.5 *TT 
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115. A cone and a cylinder are of the same height. Their radii of the bases are in the ratio of 2 : 1. 
The ratio of their volumes is : 

(1) 	2 : 3 	(2) 	3 : 2 
	

(3) 	3 : 4 	 (4) 	4 : 3 

116. A right circular cone is 8 cm high and the radius of the base is 2 cm. The cone is melted and 
recast into a sphere. The diameter of the sphere is : 

(1) 8 cm 	(2) 6 cm 	(3) 4 cm 	(4) 2 cm 

117. The mean of the following data is 20.6. 

x : 10 	15 20 25 35 

f : 3 	10 	x 	5 

The missing frequency (x) is. 

(1) 25 	 (2) 15 (3) 10 	 (4) 8 

118. If two coins are tossed once, the probability of getting at least one head is : 

	

1 	 1 	 2 

	

(1) 2 	 (2) 	 (3) 3 
3 

(4) 

119. If two of the vertices of a AABC.: are (1, 2), (4, 5) and (5, 3) is the centroids then the third 
vertex of the triangle is : 

(1) 	(10, 2) 	(2) 	(15, 9) 
	

(3) 	(5, 9) 	(4) 	(15, 3) 

120. The sum to n terms of an A.P is given by 3n2 + 3n. The 5th term of the A.P is : 

(1) 42 	 (2) 36 
	

(3) 30 	 (4) 24 

B.Ed./2011 	 40 



115. 13-177Tfft1 `c1-) TIT afR 

3-79Tff t: 

t 1 	‘3,-4-  3-7Tqr0 m1 .Assq1A 142 :1 79-k 3-1174-9 T 

(1) 2 : 3 (2) 	3 : 2 	 (3) 3 : 4 (4) 4 : 3 

116. "cr-.  *-"T ‘ -‘ 8 A.4..t 417 alluITT 1->) M-",-7112 A-41. 	i74- --ch=1f i flrt 	co'lrif 	ucir t I 

4i1c4 1 	r 	: 

(1) 8 AT -ft. (2) 	6 -4.1*. 	 (3) 4 A.1*. (4) 2 74.1t. 

117. f9-.1 It_qct chi -JR-Pq 20.6 t 

x : 10 	15 	20 	25 	35 

3 	10 	7 	5 

qc-Fr ql.esiRdf t : 

(1) 25 	 (2) 15 
	

(3) 10 	 (4) 8 

118. 	 121' 691c-1 I 	ch44 -4 'WTI" "7-  Fcid 	-517?f 	 Mt: 

1 	 2 	 3 
(1) 
	

(2) 	4 	 (3) 	3 	 (4) 

119. zifq 	LIABC 	'W114 (1, 2), (4, 5) AT (5, 3) TqWf 3\;-)cF 	 tTRT 7fiTi t : 

(1) 	(10, 2) 	 (2) 	(15, 9) 
	

(3) 	(5, 9) 	 (4) 	(15, 3) 

120. f 	f 	n Tit chi "TiTIT 3712 + 317 -Tr 311 	 5 -ai -crq : 

(1) 42 	 (2) 36 
	

(3) 30 	 (4) 24 
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PART-B 

SECTION-V (iii) : SOCIAL SCIENCE 

Choose the correct answer out of the four : 

121. The most important kingdom in Deccan and Central India after the Maurya has that of 
the : 

(1) Satvahans 	(2) Cholas 	(3) Pallavas 	(4) Pandyan 

122. Alberuni came to India in : 

(1) 9th Century All 
	

(2) 10th Century AD 

(3) 11th Century AD 
	

(4) 12th Century AD 

123. The planning commission was set up in : 

(1) March 1950 	(2) March 1951 	(3) April 1951 	(4) April 1952 

124. What is the consequence of the write of Habeas Corpus ? 

(1) The person under detention is set free 

(2) The public servant is restrained from taking any action 

(3) The officer not competent to take certain action is told not to go ahead with the action 

(4) More information is sought from the lower court 

125. Which of the following river is'called 'Biological Desert' due to heavy population ? 

(1) Brahmaputra (2) Ganga 
	

(3) Damodar 	(4) Yamuna 

126. Which of the following foreign kings was not a contemporary of Ashoka ? 

(1) Antiochos Theos 
	

(2) Magas 

(3) Ptolemy Philadelphos 
	

(4) Daurius II 

127. Who is remembered as the pioneer of Economic Nationalism ? 

(1) Bipin Chandar Pal 
	

(2) Gokhale:  

(3) R.C. Dutt 
	

(4) Madan Mohan Malviya 
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(;{ (1) 

11TIT—'4 

(U. —V (iii) : +411-iir\lich f-471ff 

1-14-1144.5d 	rci cv4-1-1 -4 -4 +-0 	: 

121.TN TTT-41-- Bch 1 AT TT 7774 tUrd Trqifq--- 	 f*--9-*7 2TT? 

(1) -HidclWi 	 Qc-f (3) 	 (4) LiKLi-1 t-Irria 

122. ,i-icisitc,11 'tiro -4 3174T : 

(1) 	9 	qi11,,q1 4 	(2) 	10 	-qlc-IT- 1- 14 	(3) 	111 	 4 	(4) 	12 	mrcql 

123. 4idI 	q;-t Tq1991 q, : 

(1) 	HIef 1950 	(2) 174 1951 	(3) 	3 	1951 	(4) 	1952 

124. 	NclaM*717 	-cicbr 	.TTr 4Ruit44 t? 

(1) -1,,R,,k-t 14 R74 4K •jrr-Wf a->):   t I 

(2) a-)4 4—*7 7rdi t I 

(3) 131fWt •Q".1 -IrdT -WT4 	frig TT-114 	3-11;) ct)Rql 9w{9* -F-ffR • -"M ,3ficif t I 

(4) 7ricr 11 31Id t 

125. lilt 	ci-,Rui Fel 1-1 R1 r(.1 	 d 14 	{* 	 -1q1 	1-a1-Er 	 Aror t. ? 

(2) 	 (3) qi4l -.T 	(4) 7-4151 

126. filltriftgff 4 4 -49 Ti-T 	(1,11 3.171-)-T 	14-1c111(1 -C 	4i? 

(1)tarli1,ii1 fP-T*[ 
	

(2) 17171 

(3) 	.41-M-cft fthmic-r-f-de-t 
	

(4) 	tftzRi II 

127. 3-Tir2k 	311t H kc0414 f 	fWzIT zficif 

(1) fqfcriT Lito 	(2) 11'1UA 	(3) 	347.1.1•Tfl• 	(4) 	H 	in1P 1-110 1  q 
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128. Lapps inhabit : 

(1) East Africa 	 (2) European Steppes 

(3) South American grasslands 	(4) European Tundra 

129. Candizeri Span is famous for : 

(1) oil 	 (2) oranges 
	(3) cork 	(4) wine 

130. Who is one of the propounders of the binary star theories ? 

(1) Laplace 	(2) Kant 	(3) La-Pichon 	(4) Jeffreys 

131. In which state was I'anchayat Raj first introduced ? 

(1) Gujarat 	(2) Rajasthan 	(3) Bihar 	(4) Andhra Pradesh 

132. The electoral system of India is largely based on the pattern of : 

(1) Britain 	(2) France 	(3) USA 	(4) None of these 

133. Monoculture is a typical characteristic of : 

(1) Shifting cultivation 	 (2) Subsistence farming 

(3) Specialized horticulture 	(4) Commercial grain farming 

134. Horse latitudes is the term applied to the : 

(1) 0° — 5° N and S latitudes 	(2) Polar circles 

(3) 30°-40° N and S latitudes 	(4) 40" — 60° N and S latitudes 

B.Ed./ 2011 	 44 



128. ALT:r -14 3-7T-41 	: 

(1) 71 

(3) - faitn- 

129. ss 	f-*-Trk -51#1-4 

(1) dci 	 (2) 40 

(2) 701171 TUT -WF 	 

(4) 1:01:h.r 

(3) 'WI* 	 (4) 1:171 

130. F-1 44-c-64-1 -14 -A 41 fg-31Tent IR* 	 ?):N-1-7)  	t? 

(1) AT OTT 	 (2) 	cbie. 	 (3) 'T-fu*19 	(4) 	Lilt A 

131. 41 14 (1,3-q 	 7:141 1T6 31TtiT -g311? 

(1) irth-t 	(2) 1T71:2T19 
	

(3) f---g{ 	(4) 3Ti`g 

132. 1-110 c-111 PlcOT--1-1 	 't\ T 7.4 f 	kT 4;1 ,H,o-4,-11 ITT am-AiRd t? 

(1) fi 
	

(2) -5h#f 	 (3) TqWf 	3-T1*-*-1 (4) TA A 	161 

133. )tit  	-511p1 ciq1ricil t? 

(1) 	TrIf 

(3) feqT1Z dS11-1 
• 

(2) 	F-1,-4 

(4)11'-,-.AI71 -#1 

134. 8111 3-1.1fT -Vi .wr TORT -ft"zri A1c11 t : 

(1) 0°-- 5° 	 3quO*. 	 

(2) ga--417 cto.it 	 

(3) 30°-40° drR 	 3i‘f14* 	 

(4) 40° —60° , -ctt 	-R-Tuff 3-WITA 
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135. In the vedic period goghna refers to : 

(1) One who gifts cattle 	 (2) One who slaughters cattle 

(3) A guest 	 (4) The bridegroom 

136. 'Half an hour discussion' can be raised in the house of parliament after giving notice to the : 

(1) Presiding officer of the house 

(2) The Secretary - General of the house 

(3) The Secretary of the department of parliamentary affairs 

(4) Concerned minister 

137. Fiscal policy is connected with : 

(1) Exports and imports 	 (2) Public revenue and Expenditure 

(3) Issue of currency 	 (4) Population control 

138. Who of the following was the first speaker of Lok Sabha ? 

(1) Hukum Singh 	 (2) G.S. Dhilon 

(3) G.V. Ma valankar 	 (4) Ananthaswayanam Ayenger 

139. Who amongst the following was impeached in England for Acts Committed as Governor 
General of India ? 

(1) Wellesley 	 (2) Cavendish Bentick 

(3) Cornwallis 	 (4) Warren Hastings 

140. Which year is known as 'Year of the Great divide' with regard to population growth in 
India ? 

(1) 1921 	(2) 1947 
	

(3) 1951 	(4) None of these 
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135.  AfT• 	chirf 	f aTO t : 

(1)4•F--q7 -7 1TIqj 	t 	(2) 	«.4r.rd 7r -cm C-q1 ctikcif t I 

.q7 (3) 	.) 31f-df2T 	 (4) 	(1,m) 

136.  sal-f.Ef f-*74 9ffER 	 -sq,f T 

(1) 	-1q-1 1 41,614-1 3Tf 	rte 	(2) 	t-iq-f 

(3) 	*ItzT 	fTITTIT ITT Tf Tf-Tq 	(4) 	#4Ferd.  4,1 

137.  tiAt-cf 	d NTR4 	s1 t ? 

(1) 	3Trzfrff at{ fTETtff 	 (2) 	r 	(1,1k-cf *Tff-4 

(3) 	f9-4-14 	 (4) 

138.  74 *07 	iTT •WI 72,11:13-Tv:RT 2TT? 

(1) 	y*—r-Tftt 	 (2) 	7174. 

(3) 	Hicic-icht 	 (4) 	 Ti31-4-dTizrzri 	37#317 

139.  ITIM*707 A-Rci 	(<■Li 14 3Ttrk -WM 	i41(15 	-p-1 	(5ci 14 A 4-11 'N-11 

WT? 

(1) 	dceIM1 	 (2) 	fidf5y( ifEW 	(3) 	m14cItaIti (4) c1ic eft 	74 

140.  41TrdiTT 1477 14 zi-Ritsql 	 f*74 7ti 	 'TV ? 

(1) 	1921 	 (2) 	1947 	 (3) 	1951 (4) -144 74 -ell 
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PART-B 

SECTION-V (iv) : ENGLISH 

Choose the most appropriate response out of the four choices given after every question. 
Each question carries one mark. 

141. Which of the following words means the same as 'desultory ? 

(1) purposeful 	(2) planned 

142. The antonym of 'Abstemious' is : 

(1) festive 	(2) hedonistic 

143. The antonym of 'iota' is : 

(1) falsehood 	(2) scrap  

(3) stray 

(3) boisterous 

(3) molecule 

(4) connected 

(4) frigid 

(4) plethora 

144. A doctor who specialises in the treatment of the brain is called : 

(1) ophthalmologist 	 (2) cardiologist 

(3) neurologist 	 (4) pulmonologist 

145. Choose the correctly spelt word : 

(1) procide 	(2) proceed 
	

(3) procid 	(4) procede 

146. Choose the correctly spelt word : 

(1) pronunciation (2) pronounciation (3) pronuncation 	(4) pronouncation 

147. The indirect form of the sentence : 

She said, "I have finished my work" is : 

(1) She said I have finished my work. 

(2) She said she have finished my work. 

(3) She said that she had finished her work. 

(4) She said she has finished my work. 

148. Choose the correctly spelt word : 

(1) inocuous 	(2) inocous 	(3) innocuous 	(4) innocous 
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149. The indirect form of the sentence : 

She asked her student "Have you done your homework ?" is : 

(1) She asked her student have you done your homework 

(2) She asked her student if she has done your homework 

(3) She asked her student if she have done her homework 

(4) She asked her student whether she had done her homework. 

150. The passive voice of 'someone stole her purse' is : 

(1) A thief stole her purse. 

(2) Her purse has been stolen by someone. 

(3) Her purse has been stolen by a thief. 

(4) Her purse got stolen. 

151. The active voice of 'He has been sent to Canada by his company for training' is : 

(1) He has gone to Canada for training. 

(2) His company sent him to Canada for training. 

(3) HiS company has sent him to Canada for training. 

(4) His company went to Canada for training. 

152. The most appropriate word to fill in the blank in 'They 	 come here next week. 

(1) have 	(2) will 
	

(3) had 	(4) has 

153. The most appropriate word to fill in the blank is 'I have not seen her 	ages'. 

(1) since 	(2) for 	 (3) till 	 (4) from 

154. Desdemone was the heroine in which play of Shakespeare ? 

(1) Hamlet 
	

(2) King Ler 

(3) Merchant of Venue 	 (4) Othello 
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155. Who wrote the poem 'Ode on intimations of Immortality' ? 

(1) Keats 
	

(2) Byron 	(3) Wordsworth (4) Shelly 

156. In which novel is Gabriel Oak the hero ? 

(1) Far from the Madding crowd 	(2) Emma 

(3) Mayor of Casterbridge 	(4) Return of the Nature 

157. Who wrote the novel 'Wuthering Heights' ? 

(1) George Eliot 	 (2) Emily Bronte 

(3) Charlotte Bronte 	 (4) Jane Austen 

158. The play 'Desire under the Elino' was.written by : 

(1) Bernard Shaw 
	

(2) Samuel Beckett 

(3) Eugene O'Neil 
	

(4) Shakespeare 

159. In the sentence 'Denmark is a country which is in Europe' 

which is in Europe is a : 

(1) Noun clause 	 (2) Adjective clause 

(3)' Adverb clause 	 (4) None of the above 

160. 'Ram, as well as Shyam, is an Engineer' is a : 

(1) Simple sentence 
	

(2) Compound sentence 

(3) Complex sentence 	 (4) Complex - Compound sentence 

- o 0 o - 
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